


According to Kirchhoff's
rules, the reading of a
voltmeter (in V) across R3in
the circuit shown to the right
is:
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: In the circuit shown, to measure the current through Rs

of

Jl J3

Jy is removed, J; is plugged in, and Js is replaced by an ammeter.

& Jyis plugged in, J; is removed and J; is replaced by an ammeter.
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Jyand J; are plugged in and J; is replaced by an ammeter.

Jy and Jz are removed and J; is replaced by an ammeter.

E Jiand Jzare plugged in and J; is replaced by an ammeter.
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In the circuit below, V; =10V, V2 = 4 V, and the 'otentlal drop ccross Rjis measuredtobe 4 V. T
difference (in V) as you go from point ¢ to point a in
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In Kirchoff's Rules experiment, suppose you removed jumper J; in order to measure the current in resistance R;.
During the time when J; is disconnected and the ammeter is not connected yet, which of the following is true?
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a. All the currents |, I, and Iz have the same values as before disconnecting Jy.

b. The potential drops across resistors R, and R; do not change as a result of disconnecting J;.

c. There is no current in Ry and the currents |, and I; are different from their values before disconnecting J;.

d. The currents Is and I3 are not affected by disconnecting J;.

e. |, has the same value as before disconnecting J; but |, and 15 are different from their values before

disconnecting J;.
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